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A D291-2 /MNREREMTFLILX— 6,090 = 6,237 & 261 =
BHRE
(EEFEEZ2ITHE5E) 6,019 & 6,164 5 258 &=
/N D413 FIMREEREE 11,334 &5 11,736 & 516 &=
(EEFEEZ2ITHE5E) 11,263 & 11,662 & 512 &
— KO093-2 BEEETFEEHM 19.394 &= 19,747 &5 467 =
e
(EEFEEZ2ITHE5E) 19,323 & 19,673 & 463 &=
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N K282 KEABEM 1 R 22,010 & 22,411 &= 515 &

25




B WEE
_ 5%
BE w7 W g%?
H = AR
o553

WLUXEEATHBE O

ZOMOLD (K

(EEEREBEZTH5E) 21,939 ;= | 22,337 = 511 &
P K282 KRABEM 1 37,272 ;2 | 37,839 ;1 681 =
MLYREAZEAT 5184
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(EEEBEBEZTH5E) 37,201 ;= | 37,765 ;1 677 =
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EBS 4T A— MUK

(EEEBEBEZTH5E) 19,896 =1 | 20,683 = 900 =
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(EEREERT L) 37,279 5 | 38,1695 | 1,003 &
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